# OSCILLATION RESULTS FOR SYSTEM OF DIFFERENTIAL EQUATIONS WITH SEVERAL DELAY TERMS 

ÖZKAN ÖCALAN

$$
\begin{aligned}
& \text { ABSTRACT. In this paper, we provide sufficient conditions for the oscillation of } \\
& \text { every solution of the system of differential equations with several delay terms } \\
& \qquad x^{\prime}(t)+\sum_{i=1}^{m} P_{i} x\left(t-\tau_{i}\right)=0
\end{aligned}
$$

where $P_{i} \in \mathbb{R}^{r \times r}$ and $\tau_{i} \in \mathbb{R}^{+}$for $i=1,2, \ldots, m$. Furthermore, we provide sufficient conditions for the oscillation of all solutions of the system of difference equations with continuous arguments

$$
x(t)-x(t-\tau)+\sum_{i=1}^{m} P_{i} x\left(t-\sigma_{i}\right)=0
$$

where $P_{i} \in \mathbb{R}^{r \times r}$ and $\tau, \sigma_{i} \in \mathbb{R}^{+}$for $i=1,2, \ldots, m$. The conditions are given in terms of the eigenvalues of the $P_{i}$ matrix for $i=1,2, \ldots, m$.

## 1. Introduction

Recently, there has been a lot of studies concerning the oscillatory behaviour of differential and difference equations, see [1-14] and the references cited therein. In [9], Ladas and Sficas obtained some results about oscillatory behaviour of all solutions of the following differential equations;

$$
\begin{equation*}
x^{\prime}(t)+p x(t-\tau)=0 \tag{1.1}
\end{equation*}
$$

where $p, \tau \in \mathbb{R}$ and

$$
\begin{equation*}
x^{\prime}(t)+\sum_{i=1}^{m} p_{i} x\left(t-\tau_{i}\right)=0 \tag{1.2}
\end{equation*}
$$

where $p_{i} \in \mathbb{R}$ and $\tau_{i} \in \mathbb{R}^{+}$for $i=1,2, \ldots, m$. (Also see $[6]$ )
In [4], Ferreira and Györi obtained the necessary and sufficient conditions for the oscillation of all solutions of linear autonomous system of differential equations

$$
\begin{equation*}
x^{\prime}(t)+P x(t-\tau)=0 \tag{1.3}
\end{equation*}
$$

2010 Mathematics Subject Classification. 34C10, 39K11.
Key words and phrases. Differential equation, several delay terms, eigenvalue, logarithmic norm, oscillation, system.

Submitted May 22, 2019. Revised August 5, 2019.
where $P \in \mathbb{R}^{r \times r}$ and $\tau \geq 0$. Furthermore, they obtained the sufficient conditions for the oscillation of all solutions of the system of differential equations

$$
\begin{equation*}
x^{\prime}(t)+\sum_{i=1}^{m} P_{i} x\left(t-\tau_{i}\right)=0 \tag{1.4}
\end{equation*}
$$

where $P_{i . .} \in \mathbb{R}^{r \times r}$ and $\tau_{i .} \in \mathbb{R}^{+}$for $i=1,2, \ldots, m$.
In [12], Öğünmez and Öcalan obtained the necessary and sufficient conditions for the oscillation of all solutions of linear autonomous system of differential equations

$$
\begin{equation*}
x^{(m)}(t)+P x(t-\tau)=0 \tag{1.5}
\end{equation*}
$$

where $P \in \mathbb{R}^{s \times s}$ and $\tau \in \mathbb{R}^{+}$. Also, the authors obtained the sufficient conditions for the oscillation of all solutions of the system of differential equations

$$
x^{(m)}(t)+\sum_{i=1}^{n} P_{i} x\left(t-\tau_{i}\right)=0
$$

where $P_{i} \in \mathbb{R}^{s \times s}$ and $\tau_{i} \in \mathbb{R}^{+}$for $i=1,2, \ldots, n$.
In [11], Meng et al. obtained the sufficient conditions for the oscillation of all solutions of the system of difference equations with continuous arguments

$$
\begin{equation*}
x(t)-x(t-\tau)+\sum_{i=1}^{m} P_{i} x\left(t-\sigma_{i}\right)=0 \tag{1.6}
\end{equation*}
$$

where $P_{i} \in \mathbb{R}^{r \times r}$ and $\tau, \sigma_{i} \in \mathbb{R}^{+}$for $i=1,2, \ldots, m$.
In [4], [11] and [12] the authors, to obtain results, used to logarithmic norm of $P$ which is denoted $\mu(P)$ and defined by

$$
\begin{equation*}
\mu(P)=\max _{\|\xi\|=1}(P \xi, \xi) \tag{1.7}
\end{equation*}
$$

where $($,$) is an inner product in \mathbb{R}^{r}$ and $\|\xi\|=(\xi, \xi)^{\frac{1}{2}}$.
In the present paper we obtain sufficient conditions for the oscillation of all solutions of equations (1.4) and (1.6) without using logarithmic norm defined by (1.7). According to us, the results of this paper more useful than known results in $[4,6$, 11].
By a solution of the equation (1.4), we mean a function $x \in C\left[\left(t_{1}-\tau, \infty\right), \mathbb{R}^{r}\right]$ for some $t_{1} \geq t_{0}$ such that $x$ is continuously differentiable on $\left[t_{1}, \infty\right)$ and $x$ satisfies equation (1.4) for $t \geq t_{1}$. A solution of the equation (1.4) with $x(t)=$ $\left[x_{1}(t), x_{2}(t), \ldots, x_{s}(t)\right]^{T}$ is said to oscillate if every component $x_{i}(t)$ of the solution has arbitrarily large zeros. Otherwise, the solution is called nonoscillatory.

## 2. Sufficient condition for oscillation of (1.4)

In this section we obtain sufficient condition for the oscillation of all solutions of the differential equation with the matrix coefficients of $P_{1}, P_{2}, \ldots, P_{m}$ and several delay terms

$$
x^{\prime}(t)+\sum_{i=1}^{m} P_{i} x\left(t-\tau_{i}\right)=0
$$

The condition will be given in terms of the $\tau_{i}$ and eigenvalues of the matrices $P_{i}$ for each $i=1,2, \ldots, m$.
We need the following lemma, which proved in [3]. (Also see [6]).

Lemma 2.1. Assume that $P_{i} \in \mathbb{R}^{r x r}$ and $\tau_{i} \in \mathbb{R}^{+}$for $i=1,2, \ldots, m$. Then the following statements are equivalent.
(a) Every solution of equation (1.4) oscillates componentwise,
(b) The characteristic equation of (1.4)

$$
\begin{equation*}
\operatorname{det}\left[\gamma I+\sum_{i=1}^{m} P_{i} e^{-\gamma \tau_{i}}\right]=0 \tag{2.1}
\end{equation*}
$$

has no real roots.
Theorem 2.2. Let $P_{i} \in \mathbb{R}^{r x r}$ and $\tau_{i} \geq 0$ for $i=1,2, \ldots, m$. Then every solution of equation (1.4) oscillates (componentwise) provided that

$$
\begin{equation*}
\lambda\left(\sum_{i=1}^{m} P_{i} \tau_{i}\right)>\frac{1}{e} \tag{2.2}
\end{equation*}
$$

where $\lambda(P)$ denotes any real eigenvalues of $P$.
Proof. If $\tau_{i}=\tau(\neq 0)$ for all $i=1,2, \ldots, m$, then every solution of equation (1.4) oscillates if and only if

$$
\lambda\left(\sum_{i=1}^{m} P_{i}\right)>\frac{1}{e \tau}
$$

which is given in [4]. Furthermore, $\tau_{i}=0$ for all $i=1,2, \ldots, m$, then every solution of equation (1.4) oscillates if and only if $\sum_{i=1}^{m} P_{i}$ has no eigenvalues in the interval $(-\infty, \infty)$. Thus, we assume that at least two $\tau_{i}$ for $i=1,2, \ldots, m$ are different from each other. Assume, for the sake of contradiction, that equation (2.1) has a $\gamma_{0}$ real root. If $\gamma_{0} \in(0, \infty)$, then equation (2.1) becomes

$$
\operatorname{det}\left[I+\sum_{i=1}^{m} P_{i} \frac{e^{-\gamma_{0} \tau_{i}}}{\gamma_{0}}\right]=0
$$

and

$$
\operatorname{det}\left[-I-\sum_{i=1}^{m} P_{i} \frac{e^{-\gamma_{0} \tau_{i}}}{\gamma_{0}}\right]=0
$$

Hence, we have

$$
\lambda\left(\sum_{i=1}^{m} P_{i} \frac{e^{-\gamma_{0} \tau_{i}}}{\gamma_{0}}\right)=-1
$$

But, by the condition (2.2), this is impossible. Indeed, we observe that for $i=$ $1,2, \ldots, m$,

$$
\lim _{\gamma_{0} \rightarrow 0^{+}} \frac{e^{-\gamma_{0} \tau_{i}}}{\gamma_{0}}=\infty \quad \text { and } \quad \lim _{\gamma_{0} \rightarrow \infty} \frac{e^{-\gamma_{0} \tau_{i}}}{\gamma_{0}}=0
$$

Thus, this is a contradiction to (2.2).
If $\gamma_{0}=0$, then equation (2.1) becomes

$$
\operatorname{det}\left[\sum_{i=1}^{m} P_{i}\right]=0
$$

and also we get

$$
\operatorname{det}\left[\sum_{i=1}^{m} P_{i} \tau_{i}\right]=0
$$

which means that at least one eigenvalue of $\sum_{i=1}^{m} P_{i} \tau_{i}$ is zero. So, we arrive a contradiction to (2.2).
Next, assume that $\gamma_{0}<0$, hence we have

$$
\lambda\left(\sum_{i=1}^{m} P_{i} \frac{e^{-\gamma_{0} \tau_{i}}}{\gamma_{0}}\right)=-1
$$

But, by the condition (2.2) this is impossible. Indeed, we observe that for $i=$ $1,2, \ldots, m$,

$$
\max _{\gamma_{0}<0} \frac{e^{-\gamma_{0} \tau_{i}}}{\gamma_{0}}=-e \tau_{i} .
$$

Then, we have

$$
\lambda\left(\sum_{i=1}^{m} P_{i}\left(-e \tau_{i}\right)\right) \geq-1
$$

and

$$
\lambda\left(\sum_{i=1}^{m} P_{i} e \tau_{i}\right) \leq 1
$$

which this is a contradiction to (2.2). Thus, the proof is complete.

## 3. SUFFICIENT CONDITION FOR OSCILLATION OF (1.6)

In this section, we obtain sufficient condition for the oscillation of all solutions of the equation (1.6). The condition will be given in terms of the eigenvalues of the matrices $P_{i}$ for $i=1,2, \ldots, m$.
We need the following lemma which is proved in [11].

Lemma 3.1. Assume that $P_{i} \in \mathbb{R}^{r x r}$ and $\tau, \sigma_{i} \in \mathbb{R}^{+}$for $i=1,2, \ldots, m$. Then the following statements are equivalent.
(a) Every solution of equation (1.6) oscillates componentwise,
(b) The characteristic equation of (1.6)

$$
\begin{equation*}
\operatorname{det}\left[\left(1-e^{-\gamma \tau}\right) I+\sum_{i=1}^{m} P_{i} e^{-\gamma \sigma_{i}}\right]=0 \tag{3.1}
\end{equation*}
$$

has no real roots.
Theorem 3.2. Let $P_{i} \in \mathbb{R}^{r x r}$ and $\sigma_{i}>\tau>0$ for $i=1,2, \ldots, m$. Then every solution of equation (1.6) oscillates (componentwise) provided that

$$
\begin{equation*}
\lambda\left[\sum_{i=1}^{m} P_{i}\left(\frac{\sigma_{i}^{\sigma_{i}}}{\left(\sigma_{i}-\tau\right)^{\sigma_{i}-\tau}}\right)^{\frac{1}{\tau}}\right]>\tau \tag{3.2}
\end{equation*}
$$

where $\lambda(P)$ denotes the real eigenvalues of $P$.
Proof. If $\sigma_{i}=\sigma(\neq 0)$ for all $i=1,2, \ldots, m$, then every solution of equation (1.6) oscillates if and only if

$$
\lambda\left(\sum_{i=1}^{m} P_{i}\right)>\tau\left(\frac{(\sigma-\tau)^{\sigma-\tau}}{\sigma^{\sigma}}\right)^{\frac{1}{\tau}}
$$

which is given in [11]. Furthermore, $\sigma_{i}=0$ for all $i=1,2, \ldots, m$, then every solution of equation (1.6) oscillates if and only if $\sum_{i=1}^{m} P_{i}$ has no eigenvalues in the interval $(-\infty, \infty)$. Thus, we assume that at least two $\sigma_{i}$ for $i=1,2, \ldots, m$ are different from each other. Assume, for the sake of contradiction, that equation (3.1) has a $\gamma_{0}$ real root. If $\gamma_{0} \in(0, \infty)$, then equation (3.1) becomes

$$
\operatorname{det}\left[I+\sum_{i=1}^{m} P_{i} \frac{e^{-\gamma_{0} \sigma_{i}}}{\left(1-e^{-\gamma_{0} \tau}\right)}\right]=0
$$

and

$$
\operatorname{det}\left[-I-\sum_{i=1}^{m} P_{i} \frac{e^{-\gamma_{0} \sigma_{i}}}{\left(1-e^{-\gamma_{0} \tau}\right)}\right]=0
$$

Hence we have

$$
\lambda\left(\sum_{i=1}^{m} P_{i} \frac{e^{-\gamma_{0} \sigma_{i}}}{\left(1-e^{-\gamma_{0} \tau}\right)}\right)=-1
$$

But, by the condition (3.2) this is impossible. Indeed, we observe that for $i=$ $1,2, \ldots, m$,

$$
\lim _{\gamma_{0} \rightarrow 0^{+}} \frac{e^{-\gamma_{0} \sigma_{i}}}{\left(1-e^{-\gamma_{0} \tau}\right)}=\infty \quad \text { and } \quad \lim _{\gamma_{0} \rightarrow \infty} \frac{e^{-\gamma_{0} \sigma_{i}}}{\left(1-e^{-\gamma_{0} \tau}\right)}=0
$$

So, this is a contradiction to (3.2).
If $\gamma_{0}=0$, then equation (3.1) becomes

$$
\operatorname{det}\left[\sum_{i=1}^{m} P_{i}\right]=0
$$

and also we get

$$
\operatorname{det}\left[\sum_{i=1}^{m} P_{i}\left(\frac{\sigma_{i}^{\sigma_{i}}}{\tau^{\tau}\left(\sigma_{i}-\tau\right)^{\sigma_{i}-\tau}}\right)^{\frac{1}{\tau}}\right]=0
$$

which this is a contradiction to (3.2).
Next, assume that $\gamma_{0}<0$, then we have

$$
\lambda\left(\sum_{i=1}^{m} P_{i} \frac{e^{-\gamma_{0} \sigma_{i}}}{\left(1-e^{-\gamma_{0} \tau}\right)}\right)=-1
$$

But, by the condition (3.2) this is impossible. Indeed, we observe that for $i=$ $1,2, \ldots, m$,

$$
\max _{\gamma_{0}<0} \frac{e^{-\gamma_{0} \sigma_{i}}}{\left(1-e^{-\gamma_{0} \tau}\right)}=-\left(\frac{\sigma_{i}^{\sigma_{i}}}{\tau^{\tau}\left(\sigma_{i}-\tau\right)^{\sigma_{i}-\tau}}\right)^{\frac{1}{\tau}} .
$$

Then, we have

$$
\lambda\left[\sum_{i=1}^{m}-P_{i}\left(\frac{\sigma_{i}^{\sigma_{i}}}{\tau^{\tau}\left(\sigma_{i}-\tau\right)^{\sigma_{i}-\tau}}\right)^{\frac{1}{\tau}}\right] \geq-1
$$

and

$$
\lambda\left[P_{i}\left(\frac{\sigma_{i}^{\sigma_{i}}}{\tau^{\tau}\left(\sigma_{i}-\tau\right)^{\sigma_{i}-\tau}}\right)^{\frac{1}{\tau}}\right] \leq 1
$$

which this is a contradiction to (3.2). Thus, the proof is complete.

Example 3.3. We consider the following system of differential equations

$$
\begin{equation*}
x^{\prime}(t)+P_{1} x(t-1)+P_{2} x(t-2)=0 \tag{3.3}
\end{equation*}
$$

where

$$
P_{1}=\left[\begin{array}{rr}
\frac{1}{3} & -3 \\
\frac{1}{4} & 2
\end{array}\right] \quad \text { and } \quad P_{2}=\left[\begin{array}{cc}
\frac{1}{3} & \frac{1}{2} \\
\frac{3}{8} & 1
\end{array}\right] .
$$

We observe that for $i=1,2$

$$
\begin{aligned}
\lambda\left(\sum_{i=1}^{2} P_{i} \tau_{i}\right) & =\lambda\left(\left[\begin{array}{rr}
\frac{1}{3} & -3 \\
\frac{1}{4} & 2
\end{array}\right]+\left[\begin{array}{ll}
\frac{2}{3} & 1 \\
\frac{3}{4} & 2
\end{array}\right]\right) \\
& =\lambda\left(\left[\begin{array}{rr}
1 & -2 \\
1 & 4
\end{array}\right]\right)
\end{aligned}
$$

So, we obtain that the eigenvalues of the matrix $\left[\begin{array}{rr}1 & -2 \\ 1 & 4\end{array}\right]$ are $\lambda_{1}=2$ and $\lambda_{2}=3$. Consequently, the condition (2.2) is provided and every solution of equation (3.3) oscillates. On the other hand, to say the same result from [4] and [6, Theorem 5.2.1] we must find the eigenvector that corresponds to each eigenvalue so that we calculate the logarithmic norm $\mu(P)$.
Clearly, this example shows that our results are sharper than the results in the literature.

## References

[1] R. P. Agarwal, Difference Equations and Inequalities. Marcel Dekker, New York, 1992.
[2] R. P. Agarwal, S. R. Grace and D. O'Regan, Oscillation Theory for Difference and Functional Differential Equations. Kluwer Academic Publishers, The Netherlands, 2000.
[3] O. Arino and I. Györi, Necessary and sufficient condition for oscillation of neutral differential system with several delays. Journal of Differential Equations, 81, 98-105, 1990.
[4] J. M. Ferreira and I. Györi, Oscillatory behavior in linear retarded functional differential equations. J. Math. Anal. Appl., 128, 332-346, 1987.
[5] I. Györi, G. Ladas and L. Pakula, On oscillations of unbounded solutions. Proceedings of the American Mathematical Society, 106, 785-792, 1989.
[6] I. Györi and G. Ladas, Oscillation theory of delay differential equations with applications. Clarendon Press, Oxford, 1991.
[7] G. Ladas, Y. G. Sficas and I. P. Stavroulakis, Necessary and sufficient condition for oscillations. American Mathematical Monthly, 90, 247-253, 1983.
[8] G. Ladas, Y. G. Sficas and I. P. Stavroulakis, Necessary and sufficient condition for oscillations of higher order delay differential equations. Trans. Amer. Math. Soc., 285, 81-90, 1984.
[9] G. Ladas and Y. G. Sficas, Oscillations of delay differential equations with positive and negative coefficients. Proceedings of the International Conference on Qualitative Theory of Differential Equations, University of Alberta, June 18-20, 232-240, 1984.
[10] G. Ladas, L. Pakula and Z. Wang, Necessary and sufficient condition for the oscillation of difference equations. Panamer. Math. J., 2(1), 17-26, 1992.
[11] Q. Meng, A. Zhao and J. Yan, Necessary and sufficient conditions for the oscillation of systems of difference equations with continuous arguments. J. Math. Anal. Appl., 312(1), 72-82, 2005.
[12] H. Öğünmez and Ö. Öcalan, Oscillation of high-order of systems of differential equations. Int. Journal of Math. Analysis, 7(15), 735-740, 2013.
[13] H. Öğünmez and Ö. Öcalan, New oscillation criteria for system of difference equations. Far East Journal of Mathematical Sciences, 72(1), 109-116, 2013.
[14] C. Tunç and O. Tunç, On the boundedness and integration of non-oscillatory solutions of certain linear differential equations of second order. Journal of Advanced Research, 7(1), 165-168, 2016.

Özkan ÖCALAN
Akdeniz University, Faculty of Science, Department of Mathematics, 07058, Antalya, Turkey

E-mail address: ozkanocalan@akdeniz.edu.tr

